meccanoindex.co.uk

MECCANO

PARTS LIST

MECCANO LTD., REG OFFICE: BINNS ROAD, LIVERPOOL L13 1DA. REG. No. 1019661

WITH EFFECT FROM 18th JUNE, 1979
SUGGESTED RETAIL PRICE LIST

The Airfix Group

Skin Skin Skin
st Description each o'v'( Price o Description each I Q| PHe Seieg Description each —o—=—T"Prics
No. P per No. P per No. P per

ner card Bt card Ber card
card D card b card b
PERFORATED STRIPS PINIONS 62 |Crank & i v 45
{ 62a |Threaded Crank .. 25
1 12%"":32cm e g 45 25 %' diam. %'’ face, 25 teeth; 19 x 6mm 1 56 62b |Double Arm Crank 2 45
1a |9%" :24cm 2 | 45 25a| %'’ diam. %'’ face, 25 teeth; 19 x 12mm .. 70 63 |Coupling . '1‘ 45
1b | 7%’ :19cm 2 | 45 25b| %'’ diam. %'’ face, 25 teeth; 19 x 19mm .. 80 63b |Strip Coupling 55
2 8 cldeny 4 45 26 w" d?am. %'’ face, 19 teeth; 12 x 6mm 1 45 63c |Threaded Coupling 45
2a 4% 11%cm 3 35 26a| %"’ dfam. %" face, 19 teeth; 12 x 12mm .. | 45 63d |Short Coupling 45
< 3% :9¢m 2 25 26b| %"’ d,l.am-. Yal f?lce, 19teeth; 12 x 19mm 60 64 |Threaded Bess Lot s 25
4 3" :7%em 2 25 26¢ | 7/16" diam. %'’ face, 15 teeth; 11 x 6mm 1 ‘ 45 60 |Set Screw. 5/32":amm .. Pkt of(12) . 25(12)
Digr2iibem \ . 25 GEAR WHEELS i 69a |Grub Screw, 5/32"" : 4mm .. 2 6 15
= = iem \ 2 e 27 | 1%'' diam. 50 teeth;32mm .. 1 45 69b |Grub Screw, 7/32":5mm Pkt. of (12) .. 35(12)
U8 |l %2 so8mm | 3 25 27a| 1%" diam. 57 teeth; 38mm 1 45 69c |Grub Screw, 7/64":3mm Pkt of (12) .. 35(12)
ANGLE GIRDERS | 27b| 3%’ diam. 133 teeth:; 9cm . 75 70 |[Flat Plate, 5% x 2%'':14 x 6¢cm 35
i 27¢ | 2% diam. 95 teeth: 6cm 1 1-60°| 72 |FlatPlate, 2%’ x 2%'':6 x 6cm 25
7 241/’:::62”“ o ( 27d| 1-5/8"" diam. 60 teeth;41mm 1 45 73 |Flat Plate, 3" x 1%"':75 x 38mm 25
fe 0 aam &8 27f | Multi Purpose Gear Wheel 2 | 45 | 74 [FlatPlate, 1% x 1%:38 x 38mm 15
8 |12%":32cm 1 45 76 |Triangular Plate, 2%'":6cm .. 25
:Z 3:;3,: :fgcm 1 32 CONTRATE WHEELS 77 |Triangular Plate, 1"':25mm.. 12
TR 28 | 1%’ diam. 50 teeth; 38mm 1 45
9 |5%"” :14cm .. 2 60 56° |5 diarn. D5 testh- 49mm. .. 11 35 : SCREWED RODS
9a ;4% il daem - 2 | 35 | 39 | Bevel Gear, 7/8" diam, 26 teeth; 22mm 1 sk sy 70
Bos o o 2 35 (for use in pairs) .. 1 30 2 8’” £ 20en b5
EEe - hac 2 9 304 | Bevel Gear, % digny; 16 teath; 2 cingin 45
9d | 2%'":6cm 2 25 o ! 80 (5% :12%cm.. 35
" | LA
98 e Sucin < 25 30c | Bevel Gear, 1%’ diam., 48 teeth; 1each.. 12.10 [ Ak ‘|3/2 o 25
9f | 1%":38mm 2: 105 e g 80b 4% :11%cm 35
10 | Fishplate .. CRa R 8 25 (Can only be used together) BOca 3" 7%cm 25
11 | Double Bracket V;" %': 12 x 12mm 2 15 31 | Gear Wheel, 1" diam. %'’ face, 38 teeth; 81 ! :5cm’.. 12
F17a| Double Bracket 1 x %'":24 x 12mm -- e 25 25mm x Bmm - A, | B e - bt ®
32 | Worm, % diam. 12mm.. 1 | 45 1 CURVED STRIPS
ANGLE BRACKETS 34b | Box Spanner .. 25 89 \ 5% (10’' radius): 14cm (25cm radius) 25
12 | %7 x %12 x 12mm 4. .25 34c | Spanner 12 89a |Stepped, 3" (1%’ radius):7%cm (4%cm
12a 1" x 1" 26x 25mm g2 25 35 | Spring Clip 12 35 radius) 5 e SR 15
12bl 1 x %'": 25 x 12mm % 2 25 36b | Screwdriver . - 45 89b |Stepped, 4" (4%’ radius): 10cm (11%"”
12c | Obtuse, %' x %112 x 12mm F’kt of (6) |35(6) 36¢ | Drift (for levering bolt holes into Ime) 12 radius) S omes o s 25
AXLE RODS 37 | Nutand Bolt, 7/32"; 5mm .. 12 35 90 (2% (2-3/8" radius): 6cm {(6cm radius) 2 25
37b| Bolt, 7/32"; 5mm 24 125 90a |Stepped, 2%’ (1-3/8" radius): 6cm (35mm
13 [ 11%”:29cm o Jasd SausiNar o iR L 24 | 35 e = S 12
13a| 8" 20cm 25 38 | Washer, 3/8"; 10 mm S it R 15 15 94 |Sprocket Chain, 40" lenqrh 1 metre .. 1 60
14 | 6%":16%cm .. 2 85 38d | Washer, %'"; 19mm Pkti of 12.. |25(12
14a | 5%’ :14cm 2 35 40 | Hank of Cord 2 25 SPROCKET WHEELS
75 L5 136m .. 2 25 95 |2" diam. 36 teeth: 5cm 1 45
15a | 4%":11%cem .. 2 | 25 | 43 | Tension Spring, 2 long; 5cm e | | 708 (LU Gl S8 teei- A0 2| 60
15b | 4%:10¢m . 2 25 95b |3’ diam. 56 teeth: 75mm 55
16 | 3%":9cm .. 2 | 25 | 45 | Double Bent Strip 12 22 ’/ dj‘f"m‘ 11*1‘@9”"' ii’“m 2 | 45
163 | 2%"":6cm .. 21 a |%' diam. teeth: 19mm .. 2| a5
16b | 3"":7%cm .. a 25 RO I v TS BRACED GIRDERS
17 2" :5¢cm 3 15 46 2% x 1": 60 x 25mm 15 97 3%’ long: 9cm 25
18a | 1%":38mm 3- [dhia) A7 L2l 00 g ma 25 99 |12%” long: 32cm 45
18b | 1"":25mm .. | 3 15 47a | 3" x 1%": 75 x 38mm 25 99a |9%'' long: 24cm .. 35
48 1% x %1588 % 12mm. L. 2 29 99b 7% long: 19 cm 35
19h | 5”:13cm shaft Crank Handle 25 48a | 2" x %"': 60 x 12mm .. 2 ! 25 | 100 [5% long: 14cm .. 25
19s | 3%":9cm w  u R 15 48h)| Sadmais O 2T e 15 102 |Single Bent Strip .. .. .. 12
20 Flanged Wheel, 1. 1/8" diam.:28mm 45 | 48c |4%" x %'": 1156 x 12mm 25 |
20b | Flanged Wheel, %’ diam.’19mm | 2 | 45 | 48d|5%" x %": 140 x 12mm 25 ! FLAT GIRDERS
; 50 |Slide Piece Al s R e T 103 | 5%" long: 14cm 25
PULLEYS | 51 | Flanged Plate, 2" x 1%’": 60 x 38mm 25 103a | 97" long:24cm 45
19b | 3" diam. with boss and screw:7 %cm Ea 60 52 | Flanged Plate, 5%’ x 2%'': 14 x 6cm .. {53 60 103b | 127%:" long:32cm 45 |,/
19¢c | 6’ diam. with boss and screw:15cm 1.35 | 52a | Flat Plate, 5%’ x'3%'': 14 x 9cm .. g 45 103c | 4% long:11%cm 15
20a | 2" diam. with boss and screw:5cm 1 45 53 | Flanged Plate, 3% x 2%’ 9 x 6cm fo 35 103d | 3% long:9cm 15
21 1% diam. with boss and screw:38mm Y] 35 53a | Flat Plate, 4%"" x 2%"': 11%" x 6cm 25 | 103e ‘3 long: 7%cm 15
22 1’ diam. with boss and screw:25mm .. 1 25 54 | Flanged Sector Plate, 4%'' long; 11%cm 45 103f 52%" long:6em 12
22a | 1" diam. without boss:25mm .. 2 25 55 Perforated Strip, Slotted, 5%’ long; 14cm 15 | 103g ,‘2" iong:5cm 12
23 | %' diam. without boss:12mm (Plastlc) 7 15 55a | Perforated Strip, slotted, 2" long; 5¢cm Vo7 103h [1%” long:38mm .. 2
23a | %'’ diam. with boss and screw;12mm .. 35 103k [7%"long:19cm 35
23b | %' diam. without boss:12mm (metal) 25 57c | Hook, loaded 1 15 <‘
24 | Bush Wheel, 1-3/8"" diam. 8 holes:34mm .. 2 45 i
24a | Wheel Disc. 1-3/8’' diam. 8 holes; without 58 |Spring Cord, 40" length; 1 metre .. 75 108 | Corner Gusset 5 25
boss:34mm Goprsiaeniae e L b 58a | Coupling Screw for Spring Cord Pkt of 12 35(12) 109 | Face Plate 2%’ diam. 6cm .. 35
24b | Bush Wheel, 1-3/8"" diam. 6 holes;34mm .. 2 45 58b | Hook for Spring Cord Pkt. of 12 [35(12) 110 | Rack Strip, 3%’ long:9cm .. 35
24c |Wheel Disc. 1-3/8’" diam. 6 holes, withcut 59 Collar with screw 4 45
boss:34mm 12 Ae
5 |
_—




meccanoindex.co.uk

Skin Skin Skin
pack pack pack
Sales Price carded Sales e Prica carded Sales Prica carded ‘
Description each | Quy. | Price Description each | oQuy.| Price Description eiich Price
No. per No. 5 per No. per
P per il P per card F card
card o card o P
BOLTS ‘ ! TRIANGULAR FLEXIBLE PLATES
111 |%:19mm Pkt of (12) [35(12 168 Ball Thrust Bearing, 4’ diam.: 10cm .. 1.35 | 221 2%'“x 1%': 60 x 38mm 12
111a |%":12mm Pkt. of (12) 35(12 168a Ball Thrust Race, Flanged disc, 3%'' diam 222 2% x 2'": 60 x 50mm 15
111c [3/8:9%mm .. a e e 10 | 25 9%cm .. : 35 223 2% x 2%': 60 x 60mm 25
111d [1-1/8"": 28%mm .. Pkt. of (12) 35(12) 168b Ball Thrust Race, toothed dusc 4" diam: 224 3% x 1%': 90 x 38mm 25
113 |[Girder Frame 35 10cm .. : Sea 35 225 3% x 2":90 x 50mm 25
114 | Hinge .. : 1 45 168c Ball Cage, 3 5/8” diam., complete with 226 3% x 2%': 90 x 60mm 25
115 |Threaded Pin 5/8":15mm - 1125 balls: 9cm 55 230 4" Rod with Keyway: 10cm 25
115a | Threaded Pin, Long 1-3/8"":34mm 1 35 168d Ball, 3/8" diam.: 9’/2""”’“ 6 231 Key Balt .. i s 6
116 Fork Piece, large .. 35 171 Socket Coupling .. 2 80 235 Narrow Strip 2% x 11/32" 60mm x 9mm 12
173a Adaptor for Screwed Rod 25 235a Narrow Strip 3 x 11/32": 75mm x 9mm 12
118 Hub Disc, 5% diam. 14cm SR 80 175 Flexible Coupling Unit .. 55 235b Narrow Strip 3%’ x 11/32"": 90mm x 9mm 12
120b |Compression Spring, 9/16"" long: 14mm 06 176 Anchoring Spring for Cord .. 12 235d Narrow Strip 4%’ x 11/32”: 115mm x 9mm 15
179 Rod Socket Bl R e 35 235f Narrow Strip 5%’ x 11/32"": 140mm x 9mm 15
180 Gear Ring, 3%’ diam. (133 ext. teeth) 235gNarrow Strip 14" x 11/32"¢: 38mm x9mm | 12
| 95 int.) 9cm . SR e s 80
124 | Reversed Angle Bracket, 1":25mm 12 185 Steering Wheel, 1’/-:: d?arn.:A‘/;cm > 35 BOOKS OF MODELS
125 |Reversed Angle Bracket, %'":12mm 6 185a Steering Wheel, 27" diam.:6cm 45
126 |Trunnion .. 2 35 V.A.T.
126a |Flat Trunnion 2 25 DRIVING BANDS Zero Rated
128 Bell Crank, with boss e e 35 186 2% (light):6cm .. 3 15 1
130 Eccentric, Triple Throw, %', 3/8" and »2"’ 186a 6’ (light):15cm .. 3 25 2
6 x9x 12mm S 95 186b 10" (light) 25cm 2 | 25 3 i 1
130a |Eccentric, Single Throw, %'":6mm 70 186¢c 10" (heavy) 25cm 15 4 | }
131 |Cam e 35 186d 15 (heavy) 37%cm .. 25 5 =
133 |Corner Bracket, 1’/: :38mm 15 186e 20’ (heavy) 50cm 2 = 25 ;
133a Corner Bracket, 1":256mm .. 12 187 Road Wheel, 2%'' diam: 60mm 1|45
134 | Crank Shaft, 1" stroke:25mm .. 25 187a Conical Disc, 1-7/8"" diam:47mm .. 25
136 | Handrail Support 45
136a LHandrail Coupling 45 FLEXIBLE PLATES 5
| .. .. .. e .. .
137 %Whee' Flange .. 35 188 2% x 1%':60 x 38mm .. 12 o S ol 30 Leatans
| 189 5% x 1%": 140 x 38mm 25 5 i
139 | Flanged Bracket (right) .. 25 e ey B 15 Highway |
139a | Flanged Bracket (left) 9% 190a 3%’ x 2%'":9 x 6cm 25 Army .. ‘
140 | Universal Coupling N P 1 80 191 4% x 2%":11% x 6em .. 25 Combat ; |
142a |Motor Tyre (to fit 2" diam. rim):5cm 1 45 192 5% x 2%:14 x 6cm 1 35 Crane .. { i
142b Motor Tyre (to fit 3" diam. rim):7 %cm 70 i i i
142c |Motor Tyre (to fit 1" diam. rim):25mm 2 25 PLASTIC PLATES i i }
142d | Motor Tyre (to fit 1%’ diam. rim):38mm 2 45 193 2% x 1%’ (Transparent): 60 x 38mm 12 ( ' |
143 | Circular Girder, 5% diam.:14cm .. 75 193a 2% x 2%’ (Transparent): 60 x 60mm 12 t No. 10 MODEL LEAFLETS i ?
144 | Dog Clutch . 55 193b 3% x 2%" (Transparent):90 x 60mm 1D f {
145  Circular Strip, 7%" d:am overall: 19cm 55 193c 4% x 2%’ (Transparent):115 x 60mm 15 :
146 \Clroular Plate. 6'" diam. overall:15cm .. ‘70 193d 5%’ x 1%’ (Transparent): 140 x 38mopa 4 15 _ 2 8 s
146a | Circular Plate, 4'" diam. overall:10cm .. £1) 193e 5% x 2% (Transparent): 140 x 60mm 25 1 Railway- Service Crane
147 | Pawl with Pivot Bolt and Nuts .. 45 194 2% x 1% (Blue): 60 x 38mm 12 2 Sports Car 3
147a  Pawl 25 194a 2% x 2%’ (Blue): 60 x 60mm 12 3 Coal Tipper L300 |
147b Pivot Bolt, with two Nuts 1 25 194b 3% x 2%’ (Blue): 90 x 60mm 15 4 Cargo Ship : ; 30 | l
147c | Pawl, without boss 12 194c 4% x 2% (Blue): 115 x 60mm 15 5 Double Deck Bus | 30 !
147/8 Paw! with pivot bolts & nuts and Ratchet Wheel {1 eachl 80 194d 5%’ x 1%" (Blue): 140 x 38mm 15 6 Lifting Shovel ‘ 30 {
148 | Ratchet Wheel b5 194e 5%’ x 2%’ (Blue): 140 x 60mm 25 7 Block Setting Crane .. 130
8 Beam Bridge .. 130
STRIP PLATES 9 Dumiper Trick 30
154a | Corner Angle Bracket, %' (right handed) 195 -7 "X 27 19 8ent. 45 10 Automatic Gantry Crane 30
12mm RS 12 196 9w’ x 2%’ 24 x 6cm 55 11 Automatic Snow Loader ; 30
154b | Corner Angle Bracket, %'’ (left handed) | 197 12%" x 2%:"::82 x 66t .. 55 12 4-4-0 Locomotive and Tender i 30
12mm e e 4 13 Combine Harvester 20
155 Rubber Ring (for 1’* Pulley): 25mm ‘ 2 15 14 Eiffel Tower .. 5 s 30
| 15 Showman's Traction Engme 30
160 | Channel Bearing, 1%"” x 1" x '": 16 Twin Cylinder Motor Cycle Engine 30
38 x 25 x 12mm S 25 17 Trench Digger 30
161 | Girder Bracket, 2"'x1''x %"’ : 50x25x12mm. 25 201 Flexible Gusset Plate, 2% x 2%'": 18 Bottom Dump Truck 30
162 |Boiler, complete, 5" long x 2-1/16"" diam. 60 x 60mm S 25 19 Road Surfacing Machine 30
12% x 5cm e 80 211a Helical Gear, %'': 12mm 20 Mechanical Loading Shovel 30
162a Boiler End 2-1/16"" diam. x % 50x19mm 25 211b Helical Gear, 1%': 38mm 1 each 2.65 21  Fire Escape 30
163 |Sleeve Piece, 1" long x 11/16"" diam. (can only be used together) 22  Wharf Crane .. 30
38 x 17mm SRR RS DT 25 212 Rod and Strip Connector Sy 2 25 23 Fork Lift Truck .. 30
164 | Chimney Adaptor, 5/8'' diam. x %'’ high 212a Rod and Strip Connector, Right Angle 2 | 25 24 Giant Dragline Excavator 30
16 x 12mm 25 213 Rod Connector 12 25 High Speed Press 30
26 Bascule Bridge 30
166 | End Bearing 35 27 Robot or Mechanical Man 30
167a | Large - Toothed Quadrant gl 1.35 214 Semi-Circular Plate, 2% :6cm .. 25 28  Freight Plane.. 30
167b | Flanged Ring, 9-7/8'' diam.’ 25cm 1.35 215 Formed Slotted Strip, 3'":7%cm 15 29  Car and Caravan .. 30
167c | Large-Toothed Quadrant Pinion 1.356 216 Cylinder, 2%" long, 1%’ diam.:60x30mmj| 35 30 Articulated Lorry 30




